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Unit 1

1. EXPLORING ANTARCTICA——THE FROZEN CONTINENT

The Antarctic Continent, with an area of over five million square miles, is a huge and
desolate world of ice and snow, rather different (except in climate) from the Arctic area,
which is sea surrounded by land. This mass of land stretching from the Antarctic Circle at
latitude 66°S to the South Pole is usually covered by pack ice up to two miles thick. In-
deed, it contains 95% of the world’ s ice and it has been calculated that if it melted. the
sea level throughout the world would rise by 70 to 90 metres. Sl;brnerging most of the
world’ s great cities.

The average annual temperature at the South Pole has been estimated at -50°C, and
the continent supports little life on land except for some algae and mosses and a few in-
sects. What other animal life there is whales, seals, flish‘ penguins is found pri-
marily in the sea that surrounds the continent, and these animals get their food from the
water. not the land. '

In spite of its inhospitable climate, explorers arrived in the area as long ago as 1897,
and by 1908 Sir Ernest Shackleton and his expedition had reached a pointlonly one hun-
dred miles from the South Pole. before being forced to turn back. The South Pole was fi-
nally reached in the Antarctic summer of 1911 1912 by two competing expeditions. The

Mfirst to arrive was the expedition organised by the expert Norwegian explorer Roald A-
mundsen, who only five or six years previously had commanded the first boat to make the
notorious Northwest Passage between Canada and the North Pole and through the Bering
Straits. Thirty-four days later, a British expedition organised by Captain Robert Scott also
reached the Pole. only to find the Norwegian {lag already there.

In spite of the short time between the arrival in Antarctica of the two expeditions,
and their similar objectives. the two groups were very different and their journeys ended
very differently. To begin with, Amundsen had more experience as an explorer and had
learnt how useful dogs were in Arctic and Antarctic conditions. whereas Scott was firmly
convinced that ponies would provide the best sort of transport for men and equipment.
Secondly, Amundsen had prepared his expedition very thoroughly over a long period of
time and had chosen his companions very carefully. Scott, on the other hand. had to pre-

1



pare rapidly and take his men to Antarctica with little or no training in order to “race” A-
mundsen to the Pole. The disadvantages Scott was working under. combined with bad
weather . gradually brought about disaster {or the party during the return trip, as they suf-
fered increasingly from injuries caused by frostbite and falls on the ice. One of the group
died on the march. A second walked out into the snow in order not to be a burden on the
remaining men. Finally, Scott himself froze to death on the ice pack with his last two
companions, whilst still trying to complete his record of the expedition. This record was
later discovered and published.

Subsequent explorations of Antarctica were. fortunately, less tragic and more prof-
itable. Gradually, the whole continent was mapped by sea and by air. Then, from July
1957 to December 1958, the International Geophysical Year was held there. Twelve na-
tions participated in various scientific surveys of the icy land mass. These included geo-
graphic, geological and oceanographic mapping, and experiments in geomagnetism.,
glaciology and seismology.

One of the most spectacular achievements during the IGY was another expedition, led
by Sir Vivian Fuchs, from Shackleton Base on one side of the continent to Scott Base on
the other side. a journey through blizzards and bitter cold which took ninety-nine days.
This time. however, the scientific results were of far greater usefulness, providing the
world with much valuable scientific information about the almost unknown continent.

Antarctica has been the subject of an international treaty of neutrality since 1960.
This specifies that the continent should be reserved for scientific exploration and investiga-
tion and never used for military or other national interests. in the way that the lands of the

Arctic are used.

approximately 650 words

New Words
antarctic /een'ta:ktik/ a. Bty
desolate /'desslit/ a. TANEAEN, RN
latitude /'laetitju:d/ n. 4
pack ice (Vg o RCHE R ) R R 0K
alga /'®lga/ ([ H Jalgae /'=ldzi:/) n. TKHE MR
penguin /'pengwin/ n. 158
inhospitable /in'hospitabl/ a. ' . AETFEEN
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frostbite /'frostbait/ n. Rt

geomagnetism /,d3i:au'magnitizm/ n. Hb BE A
glaciology / glasi'slad3i/ n. KT 2
seismology /saiz'molad3i/ n. Hb B2
spectacular /spek'takjula/ a. I AEE/ . HEA
neutrality /nju;'treeliti/ n. =RV
blizzard /'blizad/ n. ZERE
Notes

1. This article is taken from College Reading.
2. Gradually. the whole continent was mapped by sea and by air: Little by little, the
whole continent of Antarctica was shown on the map by scientists reaching there

by sea and by air.
Exercises

| . Comprehension Check: Multiple Choice
1. The animals of the Antarctic
A. depend on the sea,
B. live only on the pack ice
C. stay in thg sea all the time
[D. support one another
2. The South Pole was first reached by
A. Sir Vivian Fuchs
B. Sir Ernest Shackleton
C. Roald Amundsen
D. Robert Scott
3. The most important factor that led Scott’s return trip to a tragedy was
A. he was working under terrible weather conditions
B. he had not done careful preparations
C. his men were not well qualified
D. all of the above
4. Scott hurried his preparations because

A. he was eager to compete against Amundsen



B. his men urged him to start the journey

C. he found that he was fully prepared

D. time was limited

. One of Scott’ s companions left the main party because

A. he did not like the others in the party

B. he found there were too many of them on the team

C. he could not bear the hardships any longer

D. he did not want to cause his companions any more trouble
. The International Geophysical Year was mainly concerned with
A. aerial mapping B. science fiction
C. exploration D. scientific experiments

Which of the following term does not refer to the Antarctic?

A. The Arctic B. The Antarctic Circle

C. The Antarctic Continent [D. The South Pole
Antarctica is now mainly controlled by .

A. the IGY B. Britain

C. Norway D. none of the above

. Work out the meaning of each of the following words and expressions from the con-
text in which it appears. and then tick the best alternative.

. Desolate in para. 1 probably means

A. cold B. strange

C. deserted D. abnormal

. Submerging in para. 1 probably means

A. covering ' *B. lowering

C. eliminating : D. changing

. The expression to begin with in para. 4 can NOT be replaced by which of the follow-

ing?
A. Above all ' ' B. First of all
C. Firstly . As the first reason
. Disaster in para. 4 probably means
A. great misfortune B. severe sufferings
C. unfavourable conditions D. important changes

. Subsequent explorations in para. 5 probably means -

A. other explorations B. unimportant explorations



C. previous explorations D. explorations that followed
. Surveys in para. 5 probably means

A. investigations . B. researches

C. detailed studies and inspections D. calculations

. Spectacular in para. 6 probably means

A. interesting B. extraordinary

C. unforgettable D. special
Specifies in para. 7 probably means i

A. definitely includes B. points out

C. makes it clear D. brings about

. Translate the following sentences into Chinese;

. The first to arrive was the expedition organised by the expert Norwegian explorer Roald
Amundsen, who only five or six years previously had commanded the first boat to make
the notorious Northwest Passage between Canada and the North Pole and through the
Bering Straits.

In spite of the short time between the arrival in Antarctica of the two expeditions, and

their similar objectives, the two groups were very different and their journeys ended

very differentl_y.



2. POPULATION AROUND THE WORLD

Because of better sanitation, better food production, and better control of diseases,
the birth rates in Asia are high and the death rates are dropping. India now has 580,000,
000 people, and each year India adds another 14,000,000 people. That is an increase of
about two and one-half percent (2. 5 percent) each year. China, which has about 830,
000,000 people, also adds about two and one-half percent more each year (about 22,000,
000 people).

Because most of the countries of Asia have a population problem, most of the govern-
ments of those countries are starting family-planning programs. India began a family-plan-
ning program in 1951, and China started one in 1954. In China. for example, the govern-
ment tells people not to marry when they are young. It suggests that men wait until they
are between twenty-five and twenty-nine and that women wait until they are between
twenty-three and twenty-seven.

In industrialized countries, the population has been increasing slowly in the twentieth
century. For example. the United States has about 220,000,000 people and adds two and
one-half million each year, an increase of approximately 1. 5 percent. The majority of the
people in these industrialized countries, such as Japan., the United States, the Nether-
lands. England, and West Germany. live in cities or in the suburbs of cities. Most of
these countries also have plans to control their population.

In 1920, Latin America had 87,000,000 people; in 1972, there were 294,000,000,
The population increase in Latin America is one of the fastest in the world. If it continues,
the population will double in twenty-five years. But a majority of the countries of Latin
America do not have plans for the control of the population. In 1971, there were only nine
countries with family-planning policies. and these nine countries had only 15 percent of the
total population in Latin Amcrica.

Not only is population increasing, but urbanization is also. In Asia, about 16 percent
of the population lives in large cities (cities with 100,000 or more people). Some coun-
trics. ~uch as Thailand and the Philippines. have only one large urban area, and these ar-
eas are expanding rapidly. In other countries such as India, there are many large cities,
and cach of these cities is becoming larger.

In China, however, the situation is a little different. In 1970, one-fifth of the people

in China lived in the cities. There were twenty-one cities with one million or more people.
6



But the population in the cities is not increasing very much now. The government is en-
couraging industrialization in the countryside by building good roads and factories there. It
is also providing people with land, food. and health services so that they will not want to
move to the cities, '

In Latin America, urbanization is increasing rapidly. In Mexico. in 1960, 51 percent
of the population was urban; in 1970, 59 percent was urban. In Brazil, in those same ten
years, the percentage went from 45 to 56 percent. This increase in urbanization has creat-
ed many problems., There is a need in the cities of Latin America for between fifteen and
twenty million places to live. There is also a need for better sanitation. Only 66 percent of
the urban population gets water through pipes, and only 40 percent has services for waste.
It is clear that the problems of population and urbanization together are creating serious

problems for countries that have large cities,

approximately 600 words

New Words
sanitation /,szeni'teifan/ n. THAEKIE T RKERSZ)
Netherlands /'nedalandz/ n. for 2%
Thailand /'tailzend ; 'tailond/ n. 7= |
Philippines /'filipi:nz/ n. et
urbanization /,a:banai'zeifan/ n. #RTT AL
Notes

1. The article is taken from Challenge: A First Reader.

2. family planning: use of birth control, contraceptives for planning the number of chil-

dren X4 FH

Exercises

| . Comprehension Check. Multiple Choice
1. .In developing countries
A. families with only one child are rare
B. the birth rates are dropping

C. the population is increasing rapidly



D. people like to live in the countryside

2. In industrialized countries .
A. there are no population problems at all
B. the birth rates are high
C. the birth rates are low
D. none of the above.

3. The governments in some countries have to begin family-planning programs to
A. help solve the problems caused by the increase in population
B. keep up with industrialized countries
C. warn their people of the danger of rapid increase in population
D. produce more goods for their people

4. From this passage we know that governments in different countries have

A. different attitudes about family planning
B. the same.attitude about family planning.
C. nothing to do with family planning
D. both B and C

5. In Thailand and the Philippines
A. most people like to live in the countryside
B. most people like to live in large cities I
C. most people like to go abroad
D. all of the above

6. According to the article. one serious problem in the cities of latin America is

A. transportation ' B. production
C. sanitation D. education

7. Which of the following countries has a slower population increase in the 20th century?

A. India B. China
(. America D. Thailand -
8. The population of Latin America will be about in the year 2000 if it

keeps growing as it was in 1972.
A. 400,000,000 B. 294,000,000
C. 600,000,000 D. 174,000,000



1 . Choose the right word which would best keep the meaning of the original sentence if
it were substituted for the underlined part.
1. Because of better living conditions, the death rate is dropping in many countries.
A. surviving B. bhecoming lower
C. escaping D. doubling

2. These small rural communities do not have many of the things that you find in big

towns.

A. urban B. suburban C. potential D. imperial
3. Good sanitation is necessary for everyone's health.

A. hygiene " B. wealth C. policy D. mission
4. Our foreign trade has expanded in recent years.

A. inspired B. developed C. confused D. expressed
5. The majority of the union members voted to strike.

A. Most B. Many C. Some D. Few
6. The story is continued on p. 53.

A. kept back B. kept off C. kept on D. kept up

7. You should not encourage him in his idle ways.

A. cast B. endure C. educate . support

8. She has been in bed for six days with a very serious illness."

A. important B. dangerous (. sincere D. earnest

Il . Translate the fe!lowing sentences into Chinese:

1. Because most of the countries of Asia have a population problem. most of the govern-
ments of those countries are starting family-planning programs.

2. Tt is clear that the problems of population and urbanization together are creating serious

‘problems for countries that have large cities.



